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3 A pendulum has a length of 5 m. What is its period?

-17\ A periodic wave on a string has a wavelength of 25 cm and

J a frequency of 3 Hz. What is the speed of the wave?

( *2 3. A ..
"'-.L. rope IS tIed between two posts separated by 3 m. What

possible wavelengths will produce standing waves on the

rope?
/

~ What is the period of the hand on a clock that measures

-the seconds? What is its frequency?

~ If shapes a and b in.the figure correspond to idealized wave
pulses on a rope, what shape is produced when they com-

pletely overlap?


